SORUTTONS => ERUATIONS OF CTRCLE S [EANTPSES
i W-——-*"—'

FiEN‘J_E.'
N SR
b) r=15
1m)l_:,.'x ’Hj Le.)* L;,r'x"--ir 81=(~r€>_)1
2 '):1"-51: 5
) '-IJ_ d) r=3J2 .
rL_x,fx"'w =(47)° X2+ y*3 (al2)
R* ty= = (\b)("i) -’)(Ethjﬂ:_Ufi)(Z)
X+ G - 942=1F



2. AS X*+ 'j"""-’—

Cl) rudtus b) ’x -m+ert.€:1:>1"5 ) U-m%emep‘ﬁ
L_>r =8| -9 and +9 9 and 9
\!‘Esl ,
r-= 9 units
d) domain e) range

Ix\-9<x<9q aeRr} 19 \*Ciﬁyiqjati&}



2. B2 *Xii-:ji“"“rg

a) radius b) o- intercepts
L—>"_Ilu“*g Ly -HIF c:md 43

=
r"* \ll@ X3
uﬁt"l's

Q) intercepts d) domain
4 d 4 _
S e IS I %] < %= 4l3 A¢R}
€) mnﬁe

{Ulﬂ-‘iﬁéaﬁ 46336&3



3. X'+ 3"‘=25

a) ("N, 7?)
S (cordinate =>(- H 5)
('-1 +\j¢_ lg ) q 5)
ot -6
gj r 9::":,3



C{;ﬂrf‘diﬁ&ﬁ s (-4 J?))
o
C4,3)



(Lordinate & (35,0)



d) (213

TE %= 213¢
(Q—r—.)ﬂ T = CDS o '
H)B)+ &2*=95 @urdiﬁ&%ﬁ o (‘N 3;& l3>
12 + 2= 95
A = oity~].d)
\\-j = :+I o
g =13
: Lf.
Fowron  |GRNTER [DOmATN Ranee ATHTERTS| Y- TNTERCEPTS
A%YP=q  [(0,0) PxBx<3,xeR} fylatyss, 361{} -3and3 | -3and3

A+Y*=36 [(0,0) [fxleex<e,xeRY fyleeyse,yer} -band b | —bandb

Xeg=121 (0,0) [fal-ienei,aerd Eyhi<yit,gekd -t and 11 -itand 11




5 a) passi “fj +hmu3h (1,"‘4)
Ly TF A=2 and tjt‘*—f?

2= 2

Li] +% 4)* —i:*f1

H+ e =r*
=2

'-T-"T)P@FE'FCJFE, the E'_CL’L..LEL‘I"lE-ﬁ wowld be:

Aty =
A= DO



) PC‘EE"“E) 'Jt‘hrDL,LSH CHIS ,\!1)
L F A=4I5 and 5=JE_E

G L«FJ“— 2

eX5)+ & =r?
BO+2=1r?
€0 =r2

L T)r@re‘l:ﬂre the E:CLLJ.,G.‘PJ'DH wou ld be -

¢ N 'l'lj =2
X +Eﬁ =%0



) With an X-intercept of -122
L Point (“120)

‘IJ-? X =-12 and y=0¢%

2
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G ) of 2+ (tj"qJ1=6LJ_
(X-0)* 7 (y- _

+CYy-4)* = 64
(&nter (o, M)
F{detLlS r’=6Y
r= o4
=8 unNit+s
b) (')f‘l“l)'l 2 =4q
(X+2)2+ (4 +0) 2= 4G



c) (X+D)*+ (y=11)* =100

Cemi—e‘r (=1,11)
Fi&diusﬁ r*=100
= QIOO

r=10 unts

d) (%X-16)*+ (3-—3)% |44
@erer“ (lb,3)

F{gdms% 2= |44
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1.
a) C (-1 c.—;);r-—-\r“

(X-h)*+ (y-K)*=
AK=-11) "+ ( (o)”" (r)
A+11)% + ‘j* =
b) C(o,3) ;
(%-h) >+ (
(A-0O)+ L% %) (s)‘*
xX* + ( =95

) ClH,~4): =13

A- h; +C H)"‘=r1 |
X4 H)""‘- (13)*
(%-H4)* ( H4)* = |9
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d) C9,i4); r=2

(XD + (u-K)*=r*
(A=9)* + - 1) *= (2)*
(X+9)* + G- 14)* =4
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8.q) C(2,-2) and passing through J(8§,4)

ﬁlﬁﬁ-hed 1

:D N \JEX'L"XI ) *+ CS‘.‘L_ ﬂ a) ’

J(‘a 24 (4=92)°
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7‘2

)

\ 36X 2

= &lz

r=cJ2

, CC2,-2)

((fx zg tj H?{ iir(col_)"

%-2)*+ C

E'x 2)"+ ﬁf 2)" = (3eX2)

T2

(Ttﬂ'had 2

“+(y-K)=r
9_) 12

(5+2 =2

"1"':'_|.
-I'H""
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b) ¢ (10,0) and PassIng Theeugh K(i,-3)

(Tlﬁ’rhcd iy
(qutﬂlﬂ'xa)l"l'(si“ai)_l
\l(l u:;) *+ (30’

+(3)2
11-9
= CH(IC}
=3JI0
r= 30 ; CCIOG
X-h)’ +(
%= 10)*+ OJ:‘:)%SF@)
X~ t@)l gj = (90)
X-10)™ + *=90

ﬁlafhmd 2

c(10,0) H(l;B)
h'® %' g

(%-h)*4C H)“ =
O

( (‘?i)++(§l =

81+C1—r
QO =r2%

%-0) "+ (y-K)*= o2
X~ |OYAE §.w=qo

xX-10)?+ g*=90
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Do) A*+y*-12y-5=0
Stepde  ox* +t51-115——5
Step2e %A* +y-i124+36=01+36
Srep3 8 (A-C)7+ (y-©)*= i
Center (0,6) ; =141 units
b) X*+y*~H4%-1=0
Step 48 A4 HA +y*=|
Step 23 A*=YA+Y +51=I+‘—f
Step3e (X-2)* + (y-0)*=5
Center (2,0) 5 r=I5 units
) A+ Y -x—By-1=0
Stepl?s %A*-ox +3*-E:j= 4
Step2i A-exA+9 +y*-8By+lb= A+aG+16
Step3e (x=3)+ (y-4)* =06
Center (3,4) ; r=v26 units
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d) 27&1+‘13*+1w~%+1q=0
l_/ﬁ{frq Step & Divide each ferm bth
xX* tY R "13+-!i‘—:o
& a _ - = - |
SJrEpj_ %X*+ KX - Y "IU _13.
Step2s  A*r8X+1b +y*-Hy+H =*.J£1Hfa+‘+
Step3s (x+4)*+ (3—?_)*- —_ai-zc:
(X+4) ™+ (3-—?)1 -_cu t-u:}
2 2
(%+H)* + (y-2)" 5

T
(enter (-4,2) ; = 9|
*
r= [O1 umts

O —

i
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€) 3x*+3y*-36x + 48y +i00=0
Eﬁmﬁd‘ﬁp « Divide each ferm 'Ic:_-jr:) :
2 T _ ) OO =
X5y 1'11+n-.:,5+€ @)
Stepad? A%12% + W +lby = —100
3 Y =

Step2?2 o*-12% +@@+3‘+le;3+m =-100+361 64

5 - Ny D
Step3s (%=6)"+ (y+8)*= +%+1glgg
(A—6)* + Cy+8) ™= ~100 +300
3 3
(A=6)* + (\lj +8)*= oo

S
(Boter (6,8) 5 v*= 200
= |D00
= 1 OO X

= 10y 2 umts
I
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{6} 11+H“—4‘c‘:{—‘55‘~35‘l=0
Stepis A% 1-31"@5 =39
Step22 Aen+9 +H‘—Ea+lﬁ:=ﬁ‘3r+ﬂl+iic
Step3s (X-3)*+ (y-4)*= o4

a) Certec (3,4)

b)) roadius 8 =
r=oq

I erncins {7{[“5:’:'7(5\\)')(&3}
= é s €) Fic(maezz {S]hqiﬁilljﬁeﬁ'&

E] ""H Hl
1]
¥
i
- % {'_:_ -
L)
a
i | A
S e B =+ -4 -2 9 1 4 & ¥ o f
=X
-k
o
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Il.a) x* &+ %_ =1 i]ﬁlajgrﬁ115=1ﬁ

1 o : =2(6)
o= =41 = | 2 units
fA L}l AKX 75
| NOY AILS =
Ly Horizontal Elipse " =2.(1)
= 2 urmts
o=0G
b=1 1) Verhices .

-6,0) and (6,0)

in) —-inys =2 b and b
\J_\T‘L"I*E =y -land L

) E'L_'f A 1) Mesor SIS =240
‘ﬁl_ e =)
;"5 S =1 = 4 units
(42 )* e
a'sin wqAS =
Ly Vertical Bllipse "t = 2(4)
= ¥ umts
Q="]
b=4% i )vertices.

Coy1) and (o, 1)

Yi1) %-ints=> -4 and Y
E_j-uf‘\"rf:::? -7 and ]
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c) X"+ y* =1

)% q
x* Y urt =4
(2)* c‘::s)“

L_>V€_r+tc&\ E&hpse-

a=3
b=2

1) ﬁl{_:;)or\ﬁ‘ms —%%6)
=6 untS

(Y]inor \AxXis=12b
=2(2)
=4 units

(1) Vver¥ices
(0,-3) and (O, 3)

1) A=ints=>=2 and 2
\\:l)-lﬁ'\“a'—‘*} -Jand 3
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12,

a) Major Axis is 19 = 2a=12
o=@
Miver A%IS Is 5= 2b=5
b.= 8
2
XVertical .
E,(Luaﬁ‘c:m ° bz: A+ : =14
A+ u* =1
&) &)’l
X2 ur=1
254
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b)? %-ints=> 11

(M* (@
2+ gr=1
H4 |

a)»One vertex =(0,0)
Ly, ﬁiﬂ_mnfniﬁg vertex MmusSt be (._“\Upc})

*qu.re’?ore the mayor axis 18 20 umits

L} 2o =20
a =10 .
? Minor Axs =06
Ly 2o=0
h=3
Equations X' + * =2
© Q0)* érjl
xX* + 2 =4
oo 9
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13a) 16(x-1)*+ 12(8-@)% 48
l(s(ﬁ(“ 13 uﬁf_'))ﬂ'

8
(: -—11 (H 32 1

CEﬁJrET‘ (1,-3)
Since ths euupsa s vertical, s paralle |
40 tHhe Y-axAis:

b) 6('){+-L-I)Q+cl(3-—2.)1=
Qifx_ﬁri‘ + Cl_(h&—_-z)*: iy}
)-L
% + (_g_
(enter (-4, 2)

Since this E\lxpSElS horizonal s paralle Lt Hhe
g T
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4 0) A%*+25y2-36%-100y-8G=0 X7axis
Stepd s Go*-3ox +25y>100y =89
Extra Step QL'xl—Lt-'x)-w_sCB*—%S)f-gq
Step2t Qx> 4’1-#4)+15(3’“—L}3-+4) =36+
Stepde A(x-2)% 25 (3- 2)*=905

Q(%-2)"+ 2 -2)%=223
225 22 225

(X=2)"+ (y-2)*= 1
9D 9
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b) 2%*+85y*+20%-30y+15=0
Stepd s 2x*+20% + Sy *-30y=-75
ExtraStep: 2(x*10%) +5(y*~6y)=-15

Step2s 2(x*+10%+25)+5( Yoy +a)=TSH50M5

Steps2 2(x+5)*+ 5 (y-3)*=90
2(A+5)* + =3)" =0
20 D DO

X+35)* + (L )-S5 =-1
10 T
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15. -.-95941+1£331+15®m+323—lSq =0
Step At IOAHISOK +loy*+32y =159
Extra Stept 25(x*+6x) + l6(y*+24) =159
Step 28 95(xX *+6%x+9) + \&(8‘*+23+l)=|59+225+m
Step 38 95(«-+5)“+|e:(3+i)1= H00

o g{ +3)2 + I(g = 400
O HOO
C:;_I_E)ﬂ. l)l
| 5

a) Center (-3,1)
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b) (x+2)*+ (y+D)*=21. C(¢3,-1)

(H)* T(s)?
vertices
(-3,-1-5) and (-3,-1+5)
(-3,-6) and (-3,4)
Q) 'I'Y‘L-::l\jﬁm_ﬂ'xis'-- 2q linor AXis=2b

=2(5) =2(H)
=10 units =¥ uni¥s
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lo. 4% ™ Ay~Bx =54y +H9=0
Stepde “Ha*-%x +9y*- qu = -4q
Extra Srept H(x=2x) + q(tj*-&ﬁ} =149
Step 2t H(x*2x+1)+ (Y= oy + D=-1arH+5]
Step3t 4 (x-D*+ A(y-3)*=3¢

Hx=-D*"+ G (u-3)° = 36
5b 36 :3@

'_"'1+ CBJl

Q) Cnter (A Jf_’))

b) (x=D*+ (u-3)*=1
= 2)*
vevrhces (1-3 5) cnd (1+3 3)
(-2.)3) and (4,3)




Q) ﬂhj@r AXIS= 2
=2(3)
= b unts

Mnor Axis=2b
= 2(92)
=Y units
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